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(b) a=3 = abscissais 4-3=1 and y?> =12,y = +24/3 .

Hence points are (1,2v/3),(L,—2v3).
(b) Let point be (h,k). But 2h=k, then k? =16h
= 4h’ =16h= h=0,h=4= k=0,k=8

.. Points are (0,0), (4,8). Hence focal distances are respectively 0+a=4, 4+4=8. (ra=4)

(c) x*=-8y= a=-2.So, focus = (0,-2)
Ends of latus rectum = (4,-2),(-4,-2).

Trick : Since the ends of latus rectum lie on parabola, so only points (-4,-2)and (4,-2)satisfy the

parabola

(c) Since the axis of parabola is y-axis
.. Equation of parabola x? = 4ay
Since it passes through (6, — 3)
.. 36 =-12a =a=-3

.. Equation of parabola is x? = -12y .

(a) Clearly; parabola y? = x is symmetric about x-axis.

V
.

(d) Clearly; a= -8 | |12/ 4
Jis1| V11| 2
4
Length of latus rectum = 4a = 4x—— =842 .
g x\/E

2

@) A=<1)<1)<2)+2@(@(—1)—(1)(0)2— (1)@ 21y

=2—%—2<0andh2—ab=1—1=0.

i.e., h? =ab = a parabola.

(a) Check the equation of parabola for the given points.
The given equation can be written as (x —4)? =y —(c—16). Therefore the vertex of the parabola is

(4,c —16). The point lies on x —axis.
.c-16=0=c=16.
(b) Given equation can be written as,



(y+1)?% = g(x +3). S0, vertex is (-3,-1).

(c) The given equation of parabola is x*-4x-8y+12=0
= x? —4x=8y-12 = (x-2)*> =8(y-1)
Hence the length of latus rectum =4a=8.
(d) Equation of parabola
y2-2y—x+2=0= (y-1? =(x-1)
Let y-1=Y and x-1=X
Y2=X,a=1/4, focus =(1/4,0)

.. Required focus = (%+1,0+1j =(5/4,1).
(b) VS =4(2-2?%+(-3+1)% =2. From (x—h)? = —4a(y —k)
Parabola is,

(x=2)? =-4.2(y+1)
= (x=2?=-8(y+1)

= x*+4-4x=-8y-8
= x?-4x+8y+12=0.
(@ SP=PM =SP2 =PM?

= x?+y? - 2xy+8x+8y—-16=0.
(a) Given, equation of parabolais x?+8y—-2x=7 = x> -2x+8y-7=0
= x?-2x+1+8y-7-1=0 = (x-1)°+8y=8
= (x-1?=-8(y-1) = (x-1)? =-4.2(y - 1)
Here, a=2.
.. Equation of directrixis y-1=2 i.e., y=3.



